
Lukuteoria I
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17. Osoita, että
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18. Osoita, että
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19. Osoita, että
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20. (a) Osoita induktiolla, että

an − 1 = (a − 1)(an−1 + an−2 + · · ·+ a + 1).

Osoita, että

(b) an + 1 = (a + 1)(an−1 − an−2 + · · · − a + 1) jos 2 - n.

(c) An − Bn = (A − B)(An−1 + An−2B + · · ·+ ABn−2 + Bn−1).

21. Johda ja todista kaava
m∑

k=0

k · k! = (m + 1)! − 1.

22. Todista, että
n4 + 4n ∈ P ⇒ n = 1.


